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Note : Attempt all the sections as Per instructions.
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Section—-A
(srz-37)
Detailed Answer Questions
(R swrlia o)
Nete : Answer any two questions. Each question
carries 15 marks. 2x15=30
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1. Define sustainable agriculture. Describe the role
of agro forestry in sustainable agriculture,
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2. Define agro forestry and describe the importance

of agro foestry in Indian conditions.
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3. What do you meanby mmltipurpose trees ? Describe

the importance of multiptrpose trees.
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4. Describe the importance of forests. Give the

distribution of forests in Uttar Pradesh, Uttarakhand
and Madhya Pradesh in tabular form.
T Heq Ry I R & gl 3 &9 7 ffve

5.  Write the full forms of the follewing :

(i) ICRAF (i) DTA (i) ICRISAT
(ivi CRIDA () FAO (vi) IRRI
(vii) IGFRI  (vii) FRI  (ix) IFPRI
(x) DARE
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() ICRAF (i) HTA (i) ICRISAT
) CRDA () FAO () WM
(vii) KFRI (Vi) FRI  (ix) IFPRI

(x) DARE
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Section-B
(avs-q)
Short Answer Questions
(@ sl 9w)
Note : Attempi any one question out of the foliowing
three questions. Each question carries
10 marks. Short answer is required. 1x10=10
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6. What is the influence of frees on g;'-si% P

under agro forestry system. Explain.
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7.  What is the :importance of subabul ?
G947 H T AT 2 7

8.  Descnbethe essentiality of 'Pruning’ in agro forestry.
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Sm'ti(}n—(:
(Evz-u)
Very Short Answer Questions

(ot @g 9l 9w)

Note : Attempt any two questions, each guestion

e

Q.

carries 5 marks. Very short answer is required.
2x5=10
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Explain the follwing :
=tEa w1 9o Fift -
(i) Shifting Cultivation
ARG At

(i1) Neem Tree
i gw

(1ii) Relay Cropping

(iv) Allelopathy
TRy

(V' Mubtistoried Croppi
TEHAAT qegH
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